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In some countries secondary education is conducted in separate junior and
senior high schools, while in others it takes place in a single secondary
school. Which system do you consider to be preferable? Write a paragraph in
ENGLISH, providing specific reasons and examples in support of your answer.

(20164F FARH HEER)
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[RalfAts g2t - fiR 5]

From my experience, separate high schools are preferable. First, we can
experience two different school cultures, so we can broaden our minds and form
larger social networks. If I had chosen a single secondary school, now I would
have far fewer friends. Second, though we could live our school life in a
relaxed manner/way in a single high school, six years is too long for the young
to spend in the same atmosphere. I know I am not the way/what I was three years
ago mentally and physically. The world around us is changing rapidly, so we
should change through venturing into a new environment. (105 words)

[B ikt - i)

I believe educating children at a single secondary school is preferable. [t
is true that staying in one school for six years can make students lazy. Some
people use this time to build large social networks that eventual ly become more
important than their classes. However, for most students, the familiar
environment of a single school provides stability at a time of difficult
physical and emotional change and helps them to concentrate on their studies.
Also, not having to change schools at the age of 16 encourages more students
to stay in school until they are 18 and go on to college. (101 words)

[ C Fkchadp 1]

My personal preference as to whether secondary education should be conducted
in separate schools or not is based on my own experience. At my school, junior
and senior high school students all studied together in the same building. I
believe that it is easier for us to learn social skills by having to learn to
deal with people who are both younger and older than we are. | understand some
people might want to separate the schools to prevent too much bullying, but
rather than “avoid’ or “run away from that problem, it is time to face it and

deal with it. (102 words)
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In recent years, many local and national governments have considered
imposing a tax on sugary drinks (Coca-cola, Pepsi, etc.) because such drinks
are thought to be a major contributor to health problems such as being
significantly overweight. Would you support or oppose a tax on sugary drinks?
Write a paragraph in ENGLISH, providing specific reasons and examples to

support your opinion. (20174 HAHH ERZE)

HEELD LI SICEERT VT —<II 5Tz, T OFEBOZEE Tl E T 7/5h 5
fzEWH) ANZFEFTWRWEASDH, 204y, JEERHELTDIZARTY T LR - I A%
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(RaffA s Saih 2 - 5]

I would oppose a tax on sugary drinks. Would it be appropriate to try to
solve health problems by imposing an indirect tax? We should not tackle/solve
these issues through taxation but through promoting health education. Being
overweight is a product of whole eating-habits or rather overall/whole

lifestyles, including doing exercise, even if sugary soft drinks are a primary
contributor. Moreover, indirect tax is not fair to low-income consumers,
especially children. Even in developed countries as well as developing
countries, there are some who are unable to buy enough food and drink. They
are suffering from calorie shortage, far from becoming too fat due to too many
calories. (108 words)

[B Tk - sl

I would support a tax on sugary drinks. We need to reduce our consumption
of these products because they harm our health and create waste, and making
them more expensive would help. Governments have tried educating the public
about healthy diets and have encouraged drinks manufacturers to behave
responsibly. However, consumers have not listened and drinks manufacturers
have continued to behave irresponsibly. They still advertise these products
mainly to children, who are too young to understand how dangerous they are.
Also, the bottles and cans that the drinks are sold in are a growing

environmental problem. Only a small number of them can be recycled. Most end
up in landfills. (110 words)

[C FAiike - a5 1]

[ would definitely support a tax on sugary drinks. The problem of obesity
among young people is becoming more and more serious, and it does not only
affect the health of those young people now, but it will also affect them later
in life. Perhaps it can even shorten their lives and put pressure on society
as a whole. [ suppose this will be an extra burden of caring for an
increasingly unhealthy population that will not be able to work as much or
contribute to society. (87 words)
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[C ke - b 2]

I would not support a tax on sugary foods. Some say we should put a tax on
sugary drinks because it is causing health problems. However, sugary drinks
are not the only factor in causing such problems. People are eating fast food
with lots of fat and foods that contain artificial additives. So, imposing a
tax on sugary drinks will not be an effective solution to health problems. I
think there are better ways to change the system, beginning with education that
introduces healthy diet to young people. (88 words)
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Qualities like mental focus and dexterity are very important in some sports.
This has led some people to propose that playing video games should be
recognized as an Olympic sport. Write a paragraph in ENGLISH giving your own
opinion on this proposal, with appropriate reasons and examples.

(20184 FARH HEER)
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(RaffA s Saih 2 - 5]

| disagree with the opinion that playing video games should be an Olympic
sport. First, the Olympic Games are originally events for selected athletes
to show superior physical ability. Olympians [Olympic athletes] have trained
their body so hard as to enhance their capacity. On the other hand, playing
video games requires no such bodily performance even if it takes mental focus
and dexterity. Second, to be sure, video-game playing is a form of sport which
attracts and excites many spectators. However, this cannot be the reason for
including it among Olympic events, because we can hold its world championship
game separately. (In short, playing video games needs not to be an Olympic
sport.) (99-112 words)

[B Tk - sl

| am against this proposal. It is true that some of the qualities needed to
win video games are similar to those needed in established Olympic events such
as archery and table tennis. It is also true that, given the popularity of
video games, including them in the Olympics would attract a large television
audience and, in turn, a lot of corporate sponsorship. However, [ believe that
this would have a negative effect on the health of young people. Playing video
games encourages a sedentary, indoor lifestyle and damages players’ eyesight.
This contradicts the original goal of the Olympics: to inspire people to lead
healthy lives by rewarding physical excellence. (110 words)

[C ik - sl

| agree with those who propose that playing video games should become an
Olympic sport. Some people are just not good at sports and other physical
activities and yet they are good at using their brains and have good reflexes
when it comes to playing video games. This should be recognized. Also, video
games can be played by handicapped people and even the elderly. There is no
physical limit as there is with many traditional sports. Introducing video
games as an Olympic sport will allow many more people a chance to win a medal.
(94 words)

_4_



H S ESC (R Ep - BEachs0 SR (EREc:) BIfe2s 5

B2

Thlb

Write a paragraph in ENGLISH explaining whether you agree or disagree with
the statement in the box below. You should offer at least one reason and/or
example to support your view. (20194F FFH EEEEEE)

"It is our choices that show what we truly are, far more than our
abilities.”

(Professor Dumbledore to Harry Potter in J.K. Rowling,

The Chamber of Sewets, 1998)

Harry Potter and the Chamber of Secrets by J.K. Rowling

FLEAZ T Harry Potter’ ZFHA TOWEWLDT, FHEOEE T LIS DO oW L%
WroThbxFd,

7585, EERHESPEIEROEEIMNAINS DT, JHD writing MR L HET
ERS

(D e A )

| agree with the statement above. The reason is the following. Our past
choices have made us what we are, and those we make now will make us what we
will be in the future. Our abilities are important elements of our qualities,
so what we can do is a significant part of how we are. However, our capacities
are the results of our selections. For example, what [ can do has a close
relationship with the culture of my high school. Had I decided to go to another
high school, [ would be a different person. Therefore, our choices show what
we truly are far more than our abilities. (110 words)

[B Tk - sl

I disagree with this statement. This is because our personalities are shaped
not only by our decisions and our skills, but also by our age, by circumstances
beyond our control, by people we happen to meet. | am nineteen years old. All
the major choices in my life, such as which schools to attend, have been made
for me by my parents. Right now, my best subject is English, but my abilities
will evolve. Neither I nor the people closest to me can guess who | truly am.

(88 words)

[C FAiike - a5 1]

[ agree with this statement. I believe our lives are all about choices.
Although we cannot choose our parents or nation, after we are born and have
grown to a certain age, then everything we do comes down to a choice: what
school we go to, whether to study hard or not, what friends to keep, whether
to go on to university and what to study there, what job to get, if we marry
and to whom, how we raise our kids and live the rest of our lives. Thus, it
is these choices that define and shape us. (99 words)
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[C ke - b 2]

I disagree with this statement. [ realize that we are often faced with a
choice, and whether to turn left or turn right, whether to wait or to go
forward, but in the end, I believe it is our abilities to deal with the outcome
of the choices we make that show who we truly are. It might happen that we make
the wrong choice at some point in our lives. That is not a problem. What is
important is our ability to deal with that wrong choice and how we move on

afterwards. (94 words)
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"Wearing a protective helmet while cycling should be made compulsory in
Japan for both children and adults.” Write a paragraph IN ENGLISH explaining
whether you agree or disagree with this statement. (You may also express an
opinion partly agreeing and partly disagreeing.)

You should offer at least one reason and/or example to support your view.

(20204 H'AmH EEEE)
XKD EG T —<Th s, 72721 You may also express an opinion partly
agreeing and partly disagreeing. & WIHRHED T\, 2F D TEBELEHF R
0] LW TH L, TORER BT 50, ZNEEN, EXICVDT,
ERE X IEE LW,

(RaffA s Saih 2 - 5]

| partly agree with the statement that wearing a protective helmet while
cycling should be made compulsory in Japan for both children and adults. If
cars and bicycles hit each other on roads, it can cause serious head injuries
for cyclists without a helmet. Of course, we should protect them from suffering
such damage. but | partly disagree with the statement. The original reason for
these accidents is that cars and bicycles, or also bicycles and walking people,
usually share the same roads. They seldom have separate lanes (each can use
exclusively). The government should first tackle this problem, instead of
compelling cyclists to wear a helmet. (104-108 words)
*walking people=pedestrians/passersby

[B ke - b 1]

| agree with this statement. Making helmets compulsory would reduce the
number of head injuries suffered by cyclists and save the government money.
Many adults nowadays ride to their work places to save money and to improve
their health. They usually ride on roads, so if they are knocked down by cars,
their injuries are often serious and expensive to treat. Children are rarely
injured on the roads, but can still be badly hurt when they fall off their
bikes because their skulls are still fragile. Also, children are too young to
understand the dangers of cycling. They need to be protected by the law. (104
words)

[B ke - b 2]

I disagree with this statement. It is true that making helmets compulsory
would reduce the number of head injuries and reduce the amount of money the
government spends each year on treating injured cyclists. However, [ believe
people should be allowed to decide for themselves whether they or their
children wear helmets. By not doing so, they endanger only themselves. It is
not like riding without lights at night, for example, which is dangerous for
both cyclists and drivers. Also, if the government forces us to become too
safety-conscious, we will become afraid to take risks generally. We will
venture little and gain little. (104 words)
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| agree that cyclists should be made to wear helmets in Japan. The roads are
quite narrow and separate bicycle lanes hardly exist anywhere except in the
newest suburbs of large cities. For this reason, bicycles usually need to share
the roads with cars or the sidewalks with pedestrians. Both are dangerous, so
at least helmets should be used, just like helmets must be worn by all

motorcyclists in Japan.
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I Write a paragraph in ENGLISH giving your opinion on the statement below,
with appropriate reasons to support your position.

A universal basic income (UBI) is a proposal that would provide all citizens
of a country (or other geographic area) with a specific sum of money, usually
paid monthly, regardless of their income, employment status, or assets. A UBI
would, as examples, replace welfare payments, increase labor mobility, and
offset the risks of job loss from automation.

*5%[](3 give your opinion on the statement Td b, whether you agree or
diagree with the statement Tld7sW\WZ &iZvE, 2F 0D, 43 L H A universal
basic income (UBI) (29 AEEZBNLZMET/T W, Ei1TWA, BPMROME
Bl & 91z the statement GEREMDEEH) 12X A5 7 b X5 2 ERD TV SR
T3V,  OIRER %2 PORT 5 D@ c/aw, 72720, EXoidd»
UBI D3I & LA >l L idFEETH S, 20214 2 Hopcid, K
FoZEED, % Bl oz &sorilfiE L chWieh >z Bbns,

(Dl A )

There are many different views about the purpose and use of a universal basic
income. Some governments and local governments have already introduced it, but
it is experimentally and conditionally for a limited time. So they have not
yet come to a clear conclusion that can persuade most ordinary people. There
seem (to be) some points to consider carefully. The first is how to obtain
money resources. Does the introduction of UBI mean cutting costs for social
welfare and health insurance? The second is whether it can discourage people’s
incentive to work and encourage a moral hazard. Covid-19 has accelerated
movements for UBI, but its impact on our life and society is still unknown.
(112 words)

[B Tk - sl

In my opinion, this description of a universal basic income is too vague to
be useful. It does not explain why a UBI is needed, for example, or how the
money will be raised by the government to make these payments possible. Also,
it does not make it clear how a UBI would increase labor mobility, that is,
help people to move from low-paid jobs to better ones. Finally, it does not
tell us how a UBI differs from regular welfare payments. From the information
given here, it seems to be the same thing. (94 words)

[C Tk - sl

| agree that all people should be guaranteed a universal basic income or UBI.
I think that most people are interested in more leisure time for enjoying art
and sport, and just spending time together rather than making more money.

_9_



Unfortunately, today s social system drives people to make more money. It is
time for a new and better form of economic distribution. Education and health
should be free for everyone. When it comes to the other four basic needs, food,
water, clothes and housing, the government should make sure that all people
are provided for equally by providing a UBI to each person each month. We could
easily pay for this by diverting the money spent yearly on the military. (120
words)

IT Write a paragraph in ENGLISH answering the question below.

From the chart on the following page, what trends and other important
information can be identified? For example, you may focus on the movement of
the three different lines, countries that stand out over time, or any other

points you can identify.
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[B Tk - sl

Two trends are made clear by this chart. Firstly, the average life expectancy
of people in many countries increased between 1800 and 2012. In 1800, it was
Just 32 years. In 2012, it was 70 years. Secondly, the position of some
countries relative to others changed dramatically during that period. In 1950,
for example, Japan was behind Germany and America in terms of life expectancy.
By 2012, it had overtaken them. However, is this chart reliable? It is hard
to believe we have life expectancy data for Nigeria in 1800, for example. Also,
why are no figures available for leading countries like the UK? (104 words)

[C ik - sl

This graph tells us many things about how life expectancy has changed from
1800 to 2012. In 1800, world life expectancy was low, with countries like India
and South Korea at about 25 years of age. But things were not much better in
other regions; no country had a life expectancy over 40, with Belgium the
highest. By 1950 things had improved for many countries and they had higher
life expectancies than in 1800, with the richer countries in Europe and the
USA having life expectancies over 60. India and China, on the other hand, had
made little progress. By 2012, however, with a few exceptions in Africa, life
expectancy has greatly risen. (113 words)

(e ffets Seahizh - sl s
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ALL answers must be written clearly within the boxes provided on the ANSWER
SHEET.

[ Write a paragraph in ENGLISH addressing the question below. Give
appropriate reasons to support your position.

More and more high schools in the United States are requiring students to
volunteer at non-profit organizations (NPOs), non-governmental organizations
(NGOs), and various charities for around 40 hours in order to graduate. Do you
think that high schools in Japan should do something similar?

(RaffA s Saih 2 - 5]

I do not think Japanese high school students need to do something similar
to volunteer or charity activities seen in the United States. The reason is
that the whole education system of Japan, especially the entrance examination
system, is very different from that of the US. So just introducing a specific
program will not lead to improving Japanese education. Moreover, if engagement
in some activity is a requirement for graduating from high school, it is no
longer voluntary in the true sense of the word. Required deeds are half-forced

ones. In short, students do them for self-interest, not others’ interests.
(100 words)

[C ik - sl

I think that Japanese schools should also undertake similar programs and
require students to be more socially involved as in the U.S. Requiring Japanese
students to volunteer some of their time to some NPO activity or charity will
make them more responsible citizens in the future and make them more aware of
our various social problems. Also, having such a requirement as a condition
for being able to graduate will necessitate a change in the present education
model that forces all students to focus solely on passing difficult entrance
examinations. (90 words)

* C TR EGE 2488 L T\ A DT, PR IGER L L CTidd 2 Thoam &b
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[T Write a paragraph in ENGLISH answering the question below.

75 INRENIT — 5 kAWM CH B, 75T HRIDT TR AD RN
B (BIATGER ] OREHIEHEML, [CTHiE ORSZIBILS ¢ TIHL,

[C Tk - sl

The graph shows connection between income and mismanaged plastic waste.
Countries with a higher income per capita, such as Japan, Korea and Sweden,
have the lower rates of plastic waste and the countries with a lower income
per capita, such as Congo and Liberia, have a higher rate of mismanaged plastic
waste per capita. However, Sri Lanka, the country with income per capita
between the two groups of countries, has the highest rate of mismanaged plastic
waste per capita. Rich countries can afford to manage plastic waste
effectively, while poor countries do not have the economic capability of
producing greater amounts of plastic waste than Sri Lanka does. Sri Lanka has
the economic capability of producing tons of plastic waste but not up to the
point of managing plastic waste as effectively as Korea, Japan, and Sweden.
(137 words)
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(20231F HAmH EEEE)
ALL answers must be written clearly within the boxes provided on the ANSWER
SHEET.

[ Write a paragraph in ENGLISH addressing the question below. Give
appropriate reasons to support your position.

Dodgeball is a team game in which players on two teams throw balls and try
to hit opponents, while avoiding being hit themselves. It is quite popular with
many Japanese schoolchildren, but has been banned in some schools. Do you think
dodgeball should be banned in all schools in Japan? Why or why not?

(RaffA s Saih 2 - 5]

Dodgeball should be banned in all Japanese schools. First, unlike other ball
games, it scores by hitting the opposite team s players with a ball. So it is
not so much a ball game as boxing using a ball instead of gloves. How many
people agree with adopting boxing in physical education classes? Second, most
sports are more or less the simulation of battles in wars. They often accompany
rough plays. However, dodgeball is entirely different because from the
beginning, it aims at hitting another’s body with a ball to win the game. In

short, Japanese schools need not encourage children’ s aggressiveness through
dodgeball. (103 words)

[C ke - b 1]

| agree that dodgeball should be banned in all schools in Japan and will
explain why. First, this is a very physical sport or game in which those who
are physically strong will win, and of course those who are physically weak
will always lose and perhaps even be seriously hurt. Second, there is a lot
of bullying at Japanese schools, and this sort of game could be a way for
bullies to intimidate and/or hurt weaker students. (78 words)

[C Ak - b 2]

I disagree with the idea of banning dodgeball in all schools in Japan. First
of all, this game is in part a social game in which children learn to play and
have fun, sometimes bump into each other and even hurt or bruise each other.
Through this game children learn to get along, help and forgive, try hard, fail
and try again. Animals in nature also engage in similar sorts of ‘games’ and
it is only natural that we do the same. (82 words)



[T Write a paragraph in ENGLISH answering the question below.

Comparing the two charts below, explain their similarities and differences.
What advantages are there in displaying data like this in two such different
ways?

77 7NRENIT =Y i A WNARETH 5, 77 TN T E T AD N
W TPHERIGES ) OfFEPI 2B L, TC Tk D% EERS#TIH],

[C ik - sl

The two charts both deal with world GDP per capita. However, one is based
on actual GDP per capita by region whereas the other is based on the percentage
change. The advantage of presenting this data in two such different ways is
to be able to see things from a different perspective as we can see both the
situation at a certain point in time and how the situationhas been changing.
For example, we can see per capita GDP of East Asia is relatively low but its

growth rate is very high. Only one graph would not show the bigger picture.
(102 words)



